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I. Choose the word whose underlined part is pronounced differently.

1. A.crime B. nutrition C. vehicle D. picture
2. A. obesity B. poverty C. homeless D. overpopulation
I1. Choose the word that has a different stressed syllable from the rest.
3. A. lazy B. children C. disease D. stressful
4. A. recipe B. abundant C. celebrate D. limiting
I111. Choose the best option (A, B, C or D) to complete each of the following questions.
5. eldest boy is at college.
A. The —the B. An —the C.The-@ D. A —the
6. Traffic jam is the most serious in big cities nowadays.
A. part B. cause C. problem D. affect
7. Jane’s voice is good. is good, too.
Al B. my C. mine D. me
8. One day | will travel to the Moon in a big that travels faster than the speed of sound.
A. car B. train C. boat D. space ship
9. Using non-renewable energy sources like coal, oil a lot of carbon dioxide.
A. makes B. does C. uses D. produces
10. Festival of lights is a festival in India.
A. religion B. culture C. nation D. religious
11. She went to bed early she didn’t finish her work.
A. despite B. although C. however D. but
12. The underground in Japan is much than taxis or buses.
A. quickly B. quick C. quicker D. more quick
13. What did you use to play when you were six years old?
A. toy B. card C. ball D. game
14. There should be a limit in the playground to prevent accidents.
A. speed B. time C. engine D. cost
15. My father a biogas cooker in the kitchen, and the workers solar panels on the roof

of our house now.

A. puts — are installing B. is putting — install
C. is putting — are installing D. puts - install

IV. Write the correct form of the words in brackets.
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16 As ;the world;s -pol;uiatic-)n- incfeéseé, t’her‘e is leSs land - for a.griciﬂt’ure‘ t(; feéd all ;[hé péor’)le.‘ (
(LEAVE)

17. We participate in a lot of activities to help the people in the countryside. (OLD)

18. Natural gas is and it is harmful to the environment. (LIMIT)

19. He was still when I saw him at 11 o’clock yesterday evening. (WAKE)

20. Traffic accidents can be if people obey the rules. (PREVENT)

V. Read the following passage and choose the best answer to fill in each blank.

The re-occurrence of new technology over the years has helped us change the way we live and (21)

daily activities. Most of this development is as a (22) of inventing and creating new ways to reduce
our daily stress and live an improved life. The transportation industry is one of the important areas where new
technological advancement takes (23) . We now see cars that drive themselves along predetermined
routes. Trains that will use new magnetic rail systems. An amazing new “hyperloop” train that will speed 800
miles per hour. All these innovations are not just a form of illusion, they are set to happen within the next
coming years (24) have already started transporting us. This has increased the level of some

industries like vehicle transport companies and car shipping carriers. It has also made truck production

company, and fleet management (25) efficient.

21. A. do B. make C. have D. create
22. A. answer B. reason C. result D. cause
23. A. up B. off C. part D. place
24. A. but B. or C.and D. so
25. A. less B. little C. more D. as

V1. Read the passage and decide whether the statements are TRUE (T) or FALSE (F).

Population problems are different in different parts of the world. For example, in many European countries,
the population is getting older. The birth rate is low because many young people have only one child or none
at all. After retirement, they feel lonely and often very poor because they don’t save enough money.

In Africa, the population problems are very different. The population has grown rapidly over the last 40 years
and it has a relatively young population. Many families continue to have large numbers of children to look
after older people and to help on the land.

Asia is the largest and most populous of earth’s continents. It also has the highest population growth rate
today, and its population almost quadrupled during the 20th century. Asian population will continue to grow,
increasing pressure on the region’s natural resources.

26. In Europe, young couples usually have more than two children.

27. Old people in many European countries don’t save enough money for their retirement.

28. The population of Africa has increased rapidly.

29. Asia has the highest population growth rate in the world.

30. The population of Asia will decrease in the next few years.

Truy cép https://loigicihay.com/ dé xem I8i gidi SGK, SBT, VBT tii1dp 1 - I16p 12 tét c& cdc mén



I.Oigiaihay.com

VII. Complete each of the following sentences using the cues given. You can change the cues and use

other words in addition to the cues to complete the sentences.
31. Every country/ should do/ something/ control/ population.

=>

32. I/ be/ most interested/ hyperloop/ skytrain.

=>

33. Solar power/ depend/ weather condition/ operation.

=>

34. She/ participate/ Boryeong Mud Festival/ three/ year/ ago.

=>

35. I/ enjoy/ watch/ film/ made/famous/ Hollywood film producers.

=>
IX. Listen and complete each sentence with NO MORE THAN TWO WORDS.

36. Energy is classified into groups.

37. The energy from is called renewable energy.

38. Using renewable energy can reduce your costs.

39. Non-renewable energy is limited and will in the future.

40. Fossil fuels when burnt release in the air and cause serious environmental changes.

---------------------- THE END
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HUGNG DAN GIAI o o -

Thue hién: Ban chuyén moén Loigiaihay.com
1.A 6.C 11.B 16. left 21. A 26. False | 36. two
2.B 7.C 12.C 17. elderly 22.C 27. True | 37. natural sources
3.C 8.D 13. A 18. limited 23.D 28. True | 38. electricity
4.B 9.D 14. A 19. awake 24.B 29. True | 39. run out
5.C 10.D 15.C 20. prevented | 25.C 30. False | 40. toxic gases

31. Every country should do something to control population.
32. 1 am most interested in the hyperloop and sky train.
33. Solar power depends on weather conditions for operation.

34. She participated in the Boryeong Mud Festival three years ago.

35. I enjoy watching films which are made by famous Hollywood film producers.

HUONG DAN GIAI CHI TIET

1A

Kién thire: Phat am “i”
Giai thich:

A. crime /krarm/

B. nutrition /nju: 'trif.an/
C. vehicle /'via.kal/

D. picture /' pik.tfar/

Phan duoc gach chan & phuong an A duoc phat &m /ar/, cac phuong an con lai phat am /1.

Chon A

2.B

Kién thire: Phat am “0”
Giai thich:

A. obesity /ou'bi:.sa.ti/
B. poverty /' pov.a.ti/

C. homeless /'hoom.los/

D. overpopulation / av.va pop.jo.ler.tid/

Phan duoc gach chan & phuong 4n B dugc phat 4m /v/, cac phuong an con lai phat am /ov/.

Chon B

3.C

Kién thirc: Trong 4m
Giai thich:

A. lazy /'ler.zi/

B. children /'tf1l.dran/

Truy cdp https://loigicinay.com/ dé xem I8i gidi SGK, SBT, VBT tti1dp 1 - 18p 12 tdt c& cac moén




I.Oigiaihay.com
C diéeése /dI'ZiI‘Z/- \
D. stressful /'stres.fal/

Phuong an C c6 trong am 2, cadc phuong an con lai ¢6 trong am 1.

Chon C

4.B

Kién thirc: Trong 4m

Giai thich:

A. recipe /'res.1.pi/

B. abundant /o "ban.dont/

C. celebrate /'sel.a.brert/

D. limiting /' lim.1.tmy/

Phuong an B c6 trong am 2, cadc phuong an con lai ¢6 trong am 1.

Chon B

5C

Kién thirc: Mao tur

Giai thich:

Vi tri 1: Dau hiéu so sanh nhét “oldest” (gia nhdt) => cong thirc so sanh nhat véi tinh tir ngan “old” (gid): S
+ tobe + THE + tinh tir ngan + EST.

Vi tri 2: Mao tir a/an/ the khong ding trudce danh tir khi hanh dong dén hodc ¢ tai d6 c¢6 lién quan dén muc
dich chinh cua cac dia diém => khong dung mao tir.

college (n): truong dai hoc

The eldest boy is at college.

(Cdu con trai ca dang hoc dai hoc.)

Chon C

6.C

Kién thirc: Tir vung

Giai thich:

A. part (n): phan

B. cause (n): nguyén nhan

C. problem (n): van dé

D. affect (v): anh hudng

Traffic jam is the most serious problem in big cities nowadays.

(Un tdc giao théng la van dé nghiém trong nhdt & cdc thanh phé 1ém hién nay.)

Chon C

7.C

Kién thirc: Pai tir nhan xung

Truy cdp https://loigicinay.com/ dé xem I8i gidi SGK, SBT, VBT tti1dp 1 - 18p 12 tdt c& cac moén




I.Oigiaihay.com
Gii thich: d
A. I: t0i => chu ngir, dung trudc dong tur
B. my: cua t6i => tinh tir s¢ hiru, ding trude danh tir
C. mine: (ai/ cai gi) cua téi => dai tir s¢ hiru, dong vai tro chil nglr hoac tan nglr
D. me: t0i => tan ngilr, dtng sau dong tir
Trudc dong tir “is” can mot cha ngit. Cau trude dé cap dén “Jane’s voice™ (giong ciia Jane) Nén cau sau
dung “mine” (my voice).
Jane’s voice is good. Mine is good, too.
(Giong ciia Jane rdt hay. Giong ciia tdi ciing tot.)
Chon C
8.D
Kién thirc: Tir vung
Giai thich:
A. car (n): xe 6 t6
B. train (n): tau hoa
C. boat (n): thuyén
D. spaceship (n): tau vii try
One day I will travel to the Moon in a big spaceship that travels faster than the speed of sound.
(Mot ngay ndo dé t6i sé du hanh t6i Mt trang trén mét con tau vii tru 1ém di chuyén nhanh hon toc do ém
thanh.)
Chon D
9.D
Kién thirc: Tir vung
Giai thich:
A. makes (v): lam
B. does (v): lam
C. uses(v): st dung
D. produces (v): tao ra
Using non-renewable energy sources like coal, oil produces a lot of carbon dioxide.
(Str dung cdc nguon nang leong khong thé tdi tao nhie than dd, dau tao ra rat nhiéu carbon dioxide.)
Chon D
10.D
Kién thirc: Tir vung
Giai thich:
A. religion (n): tén gi&o

B. culture (n): van hoa
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C naﬁén (n): quéé-giel\ ’

D. religious (a): thudc vé vian hoa

Trude danh tir “festival” (1é hdi) can mot tinh ti.

Festival of lights is a religious festival in India.

(Lé héi anh sang la mot 1é héi tén gido & An DE.)

Chon D

11.B

Kién thirc: Tir vung

Giai thich:

A. despite + danh tir / V-ing: méac du

B. although + S + V: mac du

C. however: tuy nhién

D. but: nhung

She went to bed early although she didn’t finish her work.

(Cé dy di ngii sém mdc dix ¢é dy chua hoan thanh cong viéc ciia minh.)
Chon B

12.C

Kién thirc: So sanh hon

Giai thich:

Dau hiéu nhan biét “than” (hon) => ciu triic so sanh hon véi tinh tir ngan “quick” (nhanh): S1 + tobe + tinh
tir ngan + er + than + S2.

The underground in Japan is much quicker than taxis or buses.
(Tau dién ngam ¢ Nhdt Ban nhanh hon nhiéu so véi taxi hodc xe buyt.)
Chon C

13. A

Kién thirc: Tir vung

Giai thich:

A. toy (n): d6 choi

B. card (n): thé bai

C. ball (n): qua bong

D. game (n): tro choi

What toy did you use to play when you were six years old?
(Ban di choi do choi gi khi ban sdu tudi?)

Chon A

14. A

Kién thic: T vung
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Gii thich: d
A. speed (n): tc do
B. time (n): thoi gian
C. engine (n): dong co
D. cost (n): chi phi
There should be a speed limit in the playground to prevent accidents.
(Can cé giGi han téc dp trong sin choi dé ngdn ngira tai nan.)
Chon A
15.C
Kién thirc: Thi hién tai tiép dién
Giai thich:
Déu hiéu nhén biét “now” (ngay llc ndy) => c4u trac thi hién tai tiép dién ¢ dang khang dinh: S + am/ is/ are
+ Ving.
“my father” (cha ti) 1 chii ngit s6 it nén dong tir tobe 13 “is”
“the workers” (nhitng nguwoi cong nhdn) 1a chii ngir s6 nhiéu nén dong tir tobe 1a “are”
My father is putting a biogas cooker in the kitchen, and the workers are installing solar panels on the roof
of our house now.
(B6 t6i dang ddt mét cdi noi khi sinh hoc trong nha bép, va nhitng nguoi céng nhin dang lap dat cdc tam
pin mdt troi trén mdi nha cua chung toi.)
Chon C
16. left
Kién thirc: TUr vung — TUr loai
Giai thich:
Vi tri trng can mot tinh tir mang nghia con lai dé truyén tai dugc ¥ nghia ctia cau hoan chinh.
leave (v): dé lai => left (a): con lai
As the world’s population increases, there is less land left for agriculture to feed all the people.
(Khi ddn s6 thé gidi tang 1én, sé c6 it dat danh cho néng nghiép hon dé nuédi song tdt ca moi nguoi.)
bap an: left
17. elderly
Kién thie: Tix vung — Ttr loai
Giai thich:
Trude danh tir “people” (nhitng nguroi) cAn mot tinh tir.
old (adj): gia => elderly (adj): nguoi gia
We participate in a lot of activities to help the elderly people in the countryside.
(Chiing t6i tham gia rdt nhiéu hoat dong dé givp dé nguwoi gia ¢ néng thon.)
DPap an: elderly
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18 limited

Kién thic: T vung — Tt loai

Giai thich:

Sau dong tir tobe “is” can mot tinh tu.

limit (v): giéi han => limited (adj): ¢6 han

Natural gas is limited and it is harmful to the environment.

(Khi ty nhién bi han ché va cé hai cho méi truong.)

Dap an: limited

19. awake

Kién thic: T vung — Ttr loai

Giai thich:

Sau dong tir tobe “was” cAn mot tinh tu.

wake (v): tinh =>awake (adj): tinh tao

He was still awake when I saw him at 11 o’clock yesterday evening.

(Anh dy van con thirc khi t6i gdp anh dy hic 11 gio toi hém qua.)

Dap an: awake

20. prevented

Kién thirc: TUr vung — TUr loai

Giai thich:

CAu tric bi dong v6i dong tir khiém khuyét “can” (¢4 thé): S + can + be V3/ed + (by O).
prevent — prevented — prevented (v): ngdn chan

Traffic accidents can be prevented if people obey the rules.

(Tai nan giao théng cé thé dwoc ngdn chin néu moi nguoi tudn thii cdc quy tdc.)
Dap an: prevented

21. A

Kién thirc: Tir vung

Giai thich:

A. do (v): lam

B. make (v): khién

C. have (v): co

D. create (v): tao ra

Cum tir “do daily activity”: lam cac hoat dong hing ngay.

The re-occurrence of new technology over the years has helped us change the way we live and do daily
activities.

(Sw xudt hién tré lai cia cong nghé méi trong nhitng nam qua da givip ching ta thay doi cach ching ta song

va thuc hién cac hoat dong hang ngay.)
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\Cilon\ A
22.C
Kién thirc: Tir vung
Giai thich:

A. answer (n): cau tra 101

B. reason (n): ly do

C. result (n): két qua

D. cause (n): nguyén nhan

Most of this development is as a result of inventing and creating new ways to reduce our daily stress and
live an improved life.

(Hau hét sie phat trién nay la két qua ciia viéc phdt minh va tao ra nhitng cdch méi dé giam cang thang hang
ngdy ciia ching ta va song mot cudc song dwoe cdi thién.)

Chon C

23.D

Kién thirc: Tir vung

Giai thich:

A. up: Ién

B. off: tat

C. part: phan

D. place : noi

Cum tir “take place”: dién ra

The transportation industry is one of the important areas where new technological advancement takes place.
(Nganh giao théng van tdi la mot trong nhitng linh viee quan trong noi ma nhitng tién bo cong nghé moi
dién ra.)

Chon D

24.B

Kién thirc: Tir vung

Giai thich:

A. but: nhung

B. or: hodc

C. and: va

D. so: vi vay

All these innovations are not just a form of illusion, they are set to happen within the next coming years or
have already started transporting us.

(Tdt ca nhitng d6i méi nay khéng chi la mot dang do twong, chiing sé dién ra trong nhitng nam t6i hodc da

bdt dau vin chuyén ching ta.)
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Chon B B4

25.C

Kién thire: Tir vung

Giai thich:

A. less: it hon

B. little: mot it

C. more: hon

D. as: nhu

Dang so sanh hon véi tinh tir dai “effective” (hiéu qud): more + tinh tur dai.

It has also made truck production company, and fleet management more efficient.

(N6 ciing di lam cho céng ty san xudt xe tdi va quan 1y ddi xe hiéu qud hon.)

Chon C

Bai doc hoan chinh:

The re-occurrence of new technology over the years has helped us change the way we live and (21) do daily

activities. Most of this development is as a (22) result of inventing and creating new ways to reduce our daily

stress and live an improved life. The transportation industry is one of the important areas where new

technological advancement takes (23) place. We now see cars that drive themselves along predetermined

routes. Trains that will use new magnetic rail systems. An amazing new “hyperloop” train that will speed 800

miles per hour. All these innovations are not just a form of illusion, they are set to happen within the next

coming years (24) or have already started transporting us. This has increased the level of some industries like

vehicle transport companies and car shipping carriers. It has also made truck production company, and fleet

management (25) more efficient.

Tam dich:

Sw xudt hién tré lai ciia cong nghé méi trong nhitng nam qua da givip chiing ta thay déi cach chiing ta séng

va (21) thue hién cdac hoat dong hang ngay. Hau hét sw phdt trién nay la (22) két qud cia viéc phat minh va

tao ra nhitng cdch méi dé giam cang thang hang ngay cia ching ta va song mét cugc song dwoc cdi thién.

Nganh giao théng vén tdi la mét trong nhitng linh vuc quan trong noi (23) dién ra tién bg cong nghé méi.

Bdy gio chiing ta thdy nhitng chiéc 6 t6 tw ldi doc theo cdc tuyén dwong dwoc xdc dinh truée. Cdc dodn tiu

€ st dung hé thong dwong ray tir tinh méi. Mot doan tau “hyperloop” méi tuyét voi sé dat toc dé 800 dam

mét gio. Tdt ca nhitng doi méi ndy khéng chi la mot dang do twéng, ching sé dién ra trong nhitng nam téi

(24) hodc da bdt dau van chuyén ching ta. Piéu nay da lam ting mirc do ciia mot sé nganh nhw céng ty vin

tdi phwong tién va hang van chuyén 6 t6. N6 ciing da lam cho cong ty san xudt xe tai va qudn Iy ddi xe (25)

hiéu qua hon.

26. False

Kién thire: Doc hiéu

Giai thich:
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\In; Edrdpe, youné 6oublés u-suélly-héve\mbre‘tﬁan fwo childreh.’ a
(O chdu Au, cdc cdp vo chong tré thuong c6 nhiéu hon hai con.)
Thong tin: The birth rate is low because many young people have only one child or none at all.
(Ty 1é sinh thdp vi nhiéu nguwoi tré tudi chi cé6 mot con hodc khéng cé con nao.)
Chon False
27. True
Kién thirc: Doc hiéu
Giai thich:
Old people in many European countries don’t save enough money for their retirement.
(Nguoi gia ¢ nhiéu nwéc chau Au khéng tiét kiém dii tién dé nghi huu.)
Thoéng tin: After retirement, they feel lonely and often very poor because they don’t save enough money.
(Sau khi nghi hieu, ho cam thdy c6 don va thirong rat nghéo vi khéng tiét kiém di tién.)
Chon True
28. True
Kién thirc: Doc hiéu
Giai thich:
The population of Africa has increased rapidly.
(Dén sé chdu Phi tang nhanh.)
Thong tin: The population has grown rapidly over the last 40 years
(Dén s6 ting nhanh trong 40 nam qua)
Chon True
29. True
Kién thirc: Doc hiéu
Giai thich:
Asia has the highest population growth rate in the world
(Chdu A ¢6 toc dé tang dan sé cao nhdt thé gici)
Théng tin: It also has the highest population growth rate today,
(N6 ciing c6 toc do ting dan sé cao nhat hién nay,)
Chon True
30. False
Kién thire: DPoc hiéu
Giai thich:
The population of Asia will decrease in the next few years.
(Dén s6 chdu A sé giam trong vai nam téi.)
Thong tin: Asian population will continue to grow, increasing pressure on the region’s natural resources.

(Dén s6 chdu A sé tiép tuc tang, lam tang dp luc doi véi tai nguyén thién nhién cia khu viec.)
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\Cilon\ Fﬁlse £
31.
Kién thirc: Dong tir khuyét thiéu “should”
Giai thich:
- CAu truc viét cau v6i dong tir khiém khuyét “should” (nén): S + should + Vo (nguyén thé)
- Pong tir & dang “to V”” mang nghia chi muc dich
do (v): lam
control (v): kiém soat
bap an: Every country should do something to control population.
(M6i quoc gia nén lam mét cdi gi dé dé kiém sodt dan s6.)
32.
Kién thirc: Viét cau v6i “interested”
Giai thich:
- Thi hién tai don dién ta sé thich => Chu ngit “I” (t6i) c6 dong tir tobe & thi hién tai don 1a “am”.
- Cum tur bay té sy thich tha: S + tobe + interested in + danh tur.
Dap an: | am most interested in the hyperloop and skytrain.
(Téi quan tam nhdt dén tau siéu toc hyperloop va tau dién trén cao.)
33.
Kién thirc: Thi hién tai don
Giai thich:
- Thi hién tai don dién ta mot su that c6 hién tai => c4u trac thi hién tai & dang khéng dinh chu ngir s it
“solar power” (nang lwong mat troi) véi dong tir thuong: S + Vs/es.
- Cum tu: “depend on”: phu thudc vao
Dbap an: Solar power depends on weather conditions for operation.
(Nang lwong mat troi phu thugc vao diéu kién thoi tiét dé van hanh. )
34.
Kién thirc: Thi qué khir don
Giai thich:
- DAu hiéu nhén biét “ago” (cdch ddy) => cau trac thi qua khir don ¢ dang khang dinh vé6i dong tir thuong :
S +V2/ed.
participate — participated — participated (v): tham gia
- Cym tur “participate in”’: tham gia vao
- Trude danh tir dém dugc “year” (ndm) 1 tir chi s6 lwong 16n hon mot “three” (ba) nén danh tir can ¢ dang
s6 nhiéu (Ns/es)
bap an: She participated in the Boryeong Mud Festival three years ago.
(Cé dy da tham gia Lé hoi Bin Boryeong ba nam trueéc.)
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35,
Kién thirc: Viét cau véi “enjoy”

Giai thich:

- Thi hién tai don dién ta mot s& thich => c4u truc thi hién tai & dang khang dinh chu ngit sb nhiéu “I”” (t6i)
vo1 dong tur thuong: S + Vo

Sau dong tir “enjoy” (thich) can mot dong tir & dang V-ing.

- Cong thirc bi dong & thi hién tai don v6i chii ngir s6 nhiéu “films” (nhitng bé phim): S + are + V3/ed + (by
0).

make — made — made (v): lam

DPap an: | enjoy watching films which are made by famous Hollywood film producers.

(T6i thich xem nhitng bé phim dwoc thiee hién béi cdc nha san xudt phim néi tiéng ciia Hollywood.)

36. two

Kién thirc: Nghe hiéu

Giai thich:

Trude danh tir “group” (nhom) va sau dong tir “classified” (dwoc phdn logi) nén thong tin can nghe 1a mot
con Sé).

two: hai

Energy is classified into two groups.

Thong tin: Energy is classified into two main groups: renewable and non-renewable.

(Nang luong dwoc phan thanh hai nhom chinh: tdi tao va khong tdi tqo.)

Dap an: two

37. natural sources

Kién thirc: Nghe hiéu

Giai thich:

Sau gi6i tir “from” (#2) can mot cum danh ti.

natural sources: tai nguyén thién nhién

The energy from natural sources is called renewable energy.

(Nang lwong tir cdc nguén tw nhién dwoc goi la nang lirong tdi tao.)

Théng tin: The energy from natural sources such as the sun, wind, and rain is called renewable energy.
(Ndng lwong tir cdc nguon ti nhién nhie mdt troi, gié va mwa dwoc goi la nang leong tdi tao.)

Dap an: natural sources

38. electricity

Kién thirc: Nghe hiéu

Giai thich:

Sau tinh tir s¢ hitu “your” (cua ban) cAn mot cum danh tr.

electricity (n): dién
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\Cl,_lm\tl‘l’/: “electri(;ity cést”’: fiéﬁ dién-
Using renewable energy can reduce your electricity costs.

(Str dung nang heong tdi tao cé thé giam chi phi dién ciia ban.)

Thong tin: Moreover, using renewable energy can reduce your electricity costs.

(Hon nita, su dung nang lwong tdi tao co thé lam giam chi phi dién cua ban.)

Dap an: electricity

39. run out

Kién thirc: Nghe hiéu

Giai thich:

Sau dong tir khiém khuyét “will” can mot dong tir & dang nguyén thé.

expire (v): hét

Non-renewable energy is limited and will expire in the future.

(Nang lwong khéng tdi tao la ¢6 han va sé hét trong twong lai.)

Thoéng tin: And the important thing is that non - renewable sources will expire someday.

(Va diéu quan trong la cdc nguon khéng thé tdi tao sé hét han vao mét ngay nao dé.)

Dap an: run out

40. toxic gases

Kién thirc: Nghe hiéu

Giai thich:

Sau dong tir “release” (thdi ra) can mot danh tir.

toxic gases: khi doc

Fossil fuels when burnt release toxic gases in the air and cause serious environmental changes.

(Nhién liéu héa thach khi bi dot chay gidi phéng khi déc vao khéng khi va gdy ra nhitng thay déi nghiém
trong vé méi trieong.)

Thong tin: however, when burnt, they release toxic gases in the air so they cause serious environmental
changes such as global warming.

(Tuy nhién, khi bj dot chdy, chiing gidi phong khi doc vao khéng khi nén gdy ra nhitng bién déi méi trieong
nghiém trong nhw sw néng Ién toan cdu.)

bép an: toxic gases

Bai nghe:

Hello students. I’d like to tell you some information about types and sources of energy. Energy is classified
into two main groups: renewable and non-renewable.

The energy from natural sources such as the sun, wind, and rain is called renewable energy. They are plentiful
and can be generated again and again. They also have low carbon emissions so they are considered green and
environment-friendly. Moreover, using renewable energy can reduce your electricity costs. Unfortunately,

solar energy can be only used during the daytime but not during night or the rainy season.
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\Non-rehewable énergy is the énergy taken frorﬁ other soUrces fhat are’available‘on earth. Théy afe limited and
will run out in the future. They can’t be re-generated in a short time. Fossil fuels - natural gas, oil and coal -
are examples of them. They are cheap and easy to use. However, when burnt, they release toxic gases in the
air so they cause serious environmental changes such as global warming. And the important thing is that non
- renewable sources will expire someday.

Tam dich:

Chao ban. Téi muon cho ban biét mét sé théng tin vé cdc logi va nguon nang lwong. Nang lwong dwege phin
thanh hai nhom chinh: tai tao va khong tdi tao.

Ndng leong tir cde nguon te nhién nhwe mdt troi, gié va mwea dwoc goi la ndng lwong tdi tao. Chiing rdt phong
phit va co thé dwoc tao ra nhiéu lan. Chung ciing co luong khi thai carbon thd'p nén duwoc coi la xanh va than
thién véi méi trwong. Hon nita, sir dung ndng lwong tdi tao c6 thé lam giam chi phi dién cia ban. Thét khéng
may, nang heong mdt troi chi ¢é thé dwoc sir dung vio ban ngay chir khong thé sir dung vao ban dém hodc
mua mua.

Néng lwong khéng tdi tao la ndng lwong duwoc ldy tir cde nguon khéc c6 san trén trai dat. Ching c6 han va sé
hét trong twong lai. Chiing khong thé dweoe tao lai trong mét thoi gian ngdn. Nhién liéu héa thach - khi tu
nhién, dau mé va than dd - la nhitng vi du vé chiing. Chiing ré va dé sir dung. Tuy nhién, khi bi dot chdy, chiing
gidi phéng khi déc vao khong khi nén gdy ra nhitng bién doi nghiém trong vé méi trwong nhw hién twong néng

lén toan cau. Va diéu quan trong la cac nguon khong thé tai tao sé hét han vao mot ngay nao do.
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